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Answers for Lesson 10-4, pp. 488-489 EXxercises
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If the outcome of the first event affects the outcome of the
second event, the events are dependent. If the outcome of the
first event has no effect on the outcome of the second event,
the events are independent.

Independent; the outcome of the coin toss will have no effect
on the roll.

. Dependent; after the first card is chosen, the remaining

collection of cards has changed.
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Independent; the outcome of the second draw is not

dependent on the first draw.
Independent; the first spin does not affect the second spin.

Dependent; the second selection is affected by the first
selection.
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For independent events, the outcome of the first event does

not affect the outcome of the second event. For dependent
events, the outcome of the second event is affected by the
outcome of the first event.
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Key: 1 | 0 means 10
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Answers for Lesson 10-4, pp. 488-489 Exercises (cont.)
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Key: 5| 0 means 5.0
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Key: 12 | 2 means 122
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